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1. Which of the following is an identity matrix ?

(i [2(1)] (i) [(1)(;] (i) [(2)(1)] (iv) [22] ) [(1)2]

3.44
2. Matrix A = [4 14 ] is the additive inverse of
10-1
314 344 345 344 344
(|)[414](||[414] |||)[414](|v)[414](v)[413]
101 101
1-4-4
3, IfA=[-20-4],thenlOA=
404
-10-40-40 -10-40-40 -10-40-40 -10-40-42 -10-40-40
(0) [20 0 40] (ii) [-17 0 40] (iii) [20 0 40] (iv) [20 0 40] (v) [-20 0 -39
40 0 40 40 0 40 .40 -1 40 40 0 40 40 0 40
0-1-2 000
4, IfA=[-64-5]andO=[OOO],thenA+O=
62 -2 000
0-1-2 0-1-2 0-1-2 0-1-2 0-1-2
(|)[64 8] (ii) [64 5] (iii) [64 5] (|v)[44 5] [-64-5]
62 -2 62 -2

5. IfA= [22 76 ] , then find B satisfying A+ B =0

0 [l @ [55] o [55T 0 [55] @[55
6. IfA= [12 ] , then find B satisfying A+B = |

(i) [2:] (ii [i;] (i) [iz] (iv) [1:] (v) i:]
7. |fA=[iZ ] , then find Al

(i) [ ] (ii) [ ] (iii) ‘11(5)] (iv) ;2] (v) ij]



98
8. IfA= [ 59 ] , then find B satisfying A+ B = A

(i)

o2l @ [ool @ [T @ [gg1 @[]

58
9. IfA=[ e ] , then find B satisfying Ax B = A

] 0 Lol o [ ] @[] [o,]

10. Which of the following are true?

11.

12.

13.

14.

15.

a) A column matrix is a square matrix

C

)

b) A null matrix is a square matrix
) An identity matrix is a square matrix
)

d) A row matrix is a square matrix

(i) {c} (i) {b,c} (iii) {a,c} (iv) {d,ac}

Which of the following are true?

a) A zero matrix is a square matrix
b
C
d

A1l X 1 matrix has only one element
A unit matrix has only one row and one column

)
)
)
) A scalar matrix has all elements with same value

(i) {a,d,b} (i) {a,b} (i) {a,c,b} (iv) {b,c} (v) {d.c}

Which of the following are true?

a) If a matrix is symmetric then it is equal to its transpose

C

)
b) A matrix is symmetric if the principal diagonal elements are same
) A rectangular matrix cannot be symmetric

)

d) If a matrix is symmetric, then it is a square matrix

(i) {b,c} (i) {ac,d} (i) {b,a} (iv) {b,a,c} (v) {b,d}

If the transpose of a matrix is equal to its additive inverse, that matrix is called ?

(i) skew symmetric matrix (ii) scalar matrix (iii) identity matrix (iv) symmetric matrix

Which of the following are true ?

a
b
C

Rectangular matrices can also have determinants
A square matrix whose determinant is zero is called a singular matrix
Only square matrices have determinants

)
)
)
d) A square matrix whose determinant is zero is called a non-singular matrix

(i) {d,c} (i) {b,c} (iii) {a,b} (iv) {a,c,b} (v) {a,db}

If the elements of matrix A are multiplied with -1 , we get

(i) multiplicative inverse of A (ii) additive inverse of A (iii) additive identity of A

(iv) multiplicative identity of A



16. If the elements of matrix A are multiplied with 0, we get

(i) multiplicative identity of A (ii) additive inverse of A (iii) multiplicative inverse of A

(iv) additive identity of A

17. Which of the following are true?

a) A null matrix is a scalar matrix

)
b) An identity matrix is a scalar matrix
c) An identity matrix is a square matrix
)

d) A scalar matrix is an identity matrix

(i) {d,c} (i) {b,c} (i) {a,d,b} (iv) {a,b} (v) {a,c,b}

18. A3 X 2 matrix has

a
b
C
d

3rows and 6 columns
3rows and2columns
2rows and 3 columns

)
)
)
) 5rows and 2 columns

(i) {b} (i) {d,a,b} (i) {a,b} (iv) {c,b}

19. Which of the following are true for matrices Aand B ?

a) The orders of (AXB)and(BXA)are same
b
c

If A and B can be multiplied, they must have the same order
If AB=0,A=0o0rB =0 orboth A and B are zero matrices

)
)
)
d) If A and B can be added, they must have the same order

(i) {d} (i) {a,d} (i) {cad} (iv) {b,d}

20. If(A+B) =0, then

a) Ais the additive identity of B
b) B is the additive inverse of A
c) A is the additive inverse of B
d) B is the additive identity of A

(i) {a,d,b} (ii) {a,b} (iii) {a,cb} (iv) {d,c} (v) {bc}

21. Which of the following is a square matrix?

2893
424
8839 8696 923
(i) [3515] (i) [1765] (i) 812] (iv) [453] (v) [174
| 1] 11 v V
341 9908
1818 9759 248
231
2257

22. Which of the following is a rectangular matrix?

2794
148

67
o [T o [=] w [ose] w [:] @ [2]

7559



23.

24.

25.

26.

27.

28.

29.

Which of the following are true ?

a) The order of(AXB)and(BXA)is same
b
C

If matrices A & B can be multiplied, they must have the same order
IfAB=0,thenA=00rB=0o0rbothA&Bare0
d) If matrices A & B can be added, they must have the same order

)
)
)
)

(i) {d} (i) {b,d} (i) {c,a,d} (iv) {ad}

Which of the following are true for matrices A, Band C ?

a) (AX])=(IxA)=1

)
b) (AXB)=(BxA)

c) AX(BXC)=(AXB)xC

d) AX(B+C)=(AXB)+(AXC)
e) (A+B)XC=(AXB)+(AXC)

(
f) (AX|)=(|XA)= A

(i) {b,c,d} (ii) {e,af} (i) {a,c} (iv) {b,d} (v) {cdf}

If the order of matrix Aism X nand Bisn X o,
then the order of (AXB) is

(i) mXn (i) mxo (iii) oXxm (iv) nXo

Which of the following is a row matrix

1

(i) [Z] (il [Z] (i) [g] (iv) [3447] (v) [g]

2

Which of the following is a column matrix

759

1
(i) [849] (ii) [i] (iii) [827] (iv) [9191] (v) [22]
337

1

Which of the following are true ?

a) If A X B is possible, the no of rows in A must be equal to no of cols in B
b
C

If A X B is possible, the no of cols in A must be equal to no of rows in B
If A X B is possible, the no of rows in A must be equal to no of rows in B

)
)
)
d) If A X B is possible, the no of cols in A must be equal to no of cols in B
(i) {d,a,b} (i) {c,b} (iii) {a,b} (iv) {b}

Which of the following is a diagonal matrix ?

00-6 -60-6 -60-5 600

600

(i) [0-90] (ii) [_2-3_03] (iii) [g-s_c;] (iv) [_c;-(?_c;] v) [0-90]

-300

00-3



30
30. IfA= [ ] is a scalar matrix, then x =7?
0 x
(i) 9 (ii) x (i) 0 (iv) 3 (v) I

The principal diagonal elements of the given matrix

31. p4-7
] are
5-3

@i -7,-3 (i) 4,5 (i) -7,5 (iv) 4,-3

The principal diagonal elements of the given matrix
9-8-7
8-25 ] are
627

32.

(i -8,8,2 (i) 9,-7,-2 (i) -7,-2,6 (iv) 9,-2,7

-7-1
If A= [ ] and the sum of the values of
33. -8-6

elements of matrix kA =-66, find k

(i) 5 (ii) 2 (i) 4 (iv) 1 (v) 3

-1-5
34, IfA=[ ],the value of -A =
-7-7
a1 [T [T [2]Tw]
i ii iii iv Y,
o] o [5] o [5]w[55] e [L;]
78
35. Find themultiplicativeidentity of matrix A = [8 6]

KA R A R

2-1-4
36. Find themultiplicativeidentity of matrix A = [-4 13
041

110 100 100 10-1 100

(i) [010] (ii) [010] (iii) [010] (iv) [010] (v) [0-20]
001 001 021 001 001

2-1
37. Find theadditiveidentity of matrix A = [3 3 ]

0 [0 @ Lol @ [oo] @ [5o] @ [6.]



3.4-1
38. Find the additiveidentity of matrix A = [-3 30 ]
2-14

000 000 0-20 000 000
(0) [ooo] (ii) [0-10] (iii) [000] (iv) [ooo] (v) [ooo]
100 000 000 000 020



Assignment Key

1) (v) 2) (ii) 3) (i) 4) (v) 5) (iii) 6) (v)
7) (i) 8) (v) 9) (ii) 10) (i) 11) (iv) 12) (ii)
13) (i) 14) (ii) 15) (ii) 16) (iv) 17) (ii) 18) (i)
19) (i) 20) (v) 21) (iv) 22) (ii) 23) (i) 24) (v)
25) (ii) 26) (iv) 27) (ii) 28) (iv) 29) (v) 30) (iv)
31) (iv) 32) (iv) 33) (v) 34) (i) 35) (v) 36) (ii)
37) (iii) 38) (iv)
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